1 |Luthenay 11141311 0]0([55]30]25
2 |Chaulgnes 914(3]0|0f1]51|23]28
3 |Urzy A 9141211211051 ]|34]17
4 |Guérigny B 8l14(2]0|2[0]45(40]| 5
5 |Gimouille 8l4|11])2|1(0|46|50]| -4
6 |FourchambaultB | 7|14 1]|1]2(0]|39(46] -7
7 |Saint-Amand 714(1]11|2|0]42]|54]|-12
8 |Guérigny D 0O|4]1]0]J0|0|4] O0]|52]|-52
PO B
1 |Asptt Nevers 91313]0]10|0(|52]20]32
2 |Coulanges B 913[3]0|0[0]46|26]20
3 |Pougues 9141211111 0|50|46]| 4
4 |Cercy 6[4(1]0|3[0]|39]|46]| -7
5 |FourchambaultA | 53| 1] 0]|2|0]|27]|34]| -7
6 |Urzy B 413]0]11|2]0]32]40] -8
7 |Guérigny C 414]1110|1]2]|20]|54|-34







